
 

iz’u&i= dh ;kstuk  

 

                           d{kk &  12 
                     fo"k; &  jlk;u   (41)       
vof/k & 3 ?k.Vs 15 feuV                     iw.kkZad & 56 
 

1- mn~ns'; gsrq vadHkkj & 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 17-5 31-25 % 

2- vocks/k  24-00 42-85 % 

3- vfHkO;fDr  11-50 20-55 % 

4- ekSfydrk 03-00 05-35 % 

;ksx 56 100 % 
 

2- iz'uksa ds izdkjokj vadHkkj & 

Ø-
la- 

iz'uksa dk izdkj iz'uksa dh 
la[;k 

vad izfr 
iz'u 

dqy vad 
Hkkj 

dqy vad 
izfr'kr 

izfr'kr 
iz'uksa dk 

laHkkfor  
le; 
feuV 

1- oLrqfu"B 9 9 9 16.07 5 % 10 

2- vfry?kwÙkjkRed  4 
8 

4 
8 

4 
8 

7.14 
14.28 

5 % 
5 % 

6 
10 

3- y?kwÙkjkRed  12 1-5 18 32-14 60 % 89 
4- nh?kZmRrjh; iz’u  3 3 9 16-07 15 % 40 
5- fuca/kkRed 2 4 8 14-28 10 % 40 
 ;ksx 38  56 100 100 % 195 

            

fodYi ;kstuk % vkUrfjd ¼fuca/kkRed iz'uksa eas gS ½    

3- fo"k; oLrq dk vadHkkj & 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1 Bksl voLFkk 3 5-35 
2 foy;u 3 5-35 
3 oS/kqr jlk;u 4 7-14 
4 jklk;fud cyxfrdh 4 7-14 
5 i`"B jlk;u 4 7-14 
6 rRoksa ds fu"d"kZ.k ds fl)kUr ,oa izØe 2 3-57 
7 P- CykWd ds rRo 4 7-14 
8 d ,oa f CykWd ds rRo 3 5-35 
9 milgla;kstu ;kSfxd 4 7-14 
10 gSyks,sYdsu rFkk gSyks ,sjhu 4 7-14 
11 ,sYdksgkWy] QhukWy ,oa bZFkj 4 7-14 
12 ,sfYMgkbM] dhVksu ,oa dkcksZfDlfyd vEy 5 8-92 
13 ,sehu 4 7-14 
14 tSo v.kq 2 3-57 
15 Cgqyd 3 5-35 
16 nSfud thou eas jlk;u 3 5-35 
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1 Bksl voLFkk             3(2)        3(2) 

2 foy;u             3(2)        3(2) 

3 oS/kqr jlk;u 1(1)        2(1)          1(-)  4(2) 

4 jklk;fud cyxfrdh 2(2) 2(2)                   4(4) 

5 ì"B jlk;u          4(1)*           4(1)* 

6 rRoksa ds fu"d"kZ.k ds fl)kUr 
,oa izØe 

1(1)                1(1)    2(2) 

7 P- CykWd ds rRo 1(1) 1(1)     1(1)          1(1)    4(4) 

8 d ,oa f CykWd ds rRo       1½(1)     1½(1)        3(2) 

9 milgla;kstu ;kSfxd 1(1)             3(1)       4(2) 

10 gSyks,sYdsu rFkk gSyks ,sjhu         4(1)*           4(1)* 

11 ,sYdksgkWy] QhukWy ,oa bZFkj 1(1) 1(1)     1(1)     1(1)         4(4) 

12 ,sfYMgkbM] dhVksu ,oa 
dkcksZfDlfyd vEy 1(1) 

1(1)      3(2)             5(4) 

13 ,sehu 1(1)       3(1)            4(2) 

14 tSo v.kq 1(1) 1(1)                   2(2) 

15 cgqyd       3(2)             3(2) 

16 nSfud thou eas jlk;u   1½(1)     1½(1)             3(2) 

  9(9) 7(7) 1½(1)    2(2) 9(6) 5(2) 8(2)  1(1) 7½(5) 3(1)   2(2)  1(-)   

  17½(17) 24(12) 11½(7)  56(38) 
 

fodYiksa dh ;kstuk %& iz-la-  19 o 20 esa ,d vkarfjd fodYi gSA    uksV%& dks"Bd esa ckgj dh la[;k vadksa dh rFkk Hkhrj iz'uksa dh |ksrd gSA iz-l-&1 esa 9 iz-] iz-l-&2 esa 4 iz- o iz-l-&3 esa 8 iz- lekfgr gSA 
iz’u i= esa ewy iz’u 20 gS] tks izdkjkUrj ls dqy 38 gSA              
                      gLrk{kj 



 

 
 

 
  

mPp ek/;fed ijh{kk] 2023 
SENIOR SECONDARY EXAMINATION, 2023 

jlk;u foKku (41) 
Chemistry  
Class : - 12 

le; % 3%15 ?k.Vs           iw.kkaZd % 56 
 
ijh{kkfFkZ;ksa ds fy, lkekU; funsZ'k %& 

GENERAL INSTRAUCTIONS TO THE EXAMINEES 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 

Candidate must write frist his/ her Roll on the question paper compulsory. 

2-lHkh iz'u vfuok;Z gSaA 

All the questions are compulsory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 

Write the answer to each question in the given answer Book only. 

4- ftu iz'uksa eas vkUrfjd [k.M gSa] mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 

For question having more than one part, the answers to those parts are to be written togeather in 

continuity. 

5- iz'u i= ds fgUnh o vaxzsth :ikUrj esa fdlh izdkj dh =qfV@vUrj@fojks/kkHkkl gksus ij fgUnh 

Hkk"kk ds iz'u dks gh lgh ekusaA 

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the 

question of Hindi versions should be treated valid. 

 

 

  



[k.M & v 

Section - A 

 

oLrqfu"B ç'u& 

Multiple Choice Questions- 

1- fuEukafdr ç'uksa esa fn, x, fodYi dk p;u dj mÙkj&iqfLrdk esa fyf[k, %   9X1¾9 

Write the answer of following questions in answer book by  Selecting the correct option : 

¼i½ izfrjks/k dk O;qRØe gksrk gS& 

¼v½ pkydrk   ¼c½ izfrjks/kdrk 

¼l½ lsy fu;rkad   ¼n½ pkydRo  

The inverse of resistance is : 

¼A½ Conductivity  ¼B½ Resistivity 

¼c½ Cell constant   ¼D½ Conductance 

¼ii½ izFke dksfV dh vfHkfØ;k dh v/kkZ;q fuEUk esa ls fdl ij fuHkZj djrh gS\ 

 ¼v½ fØ;kdkjdksa dh lkUnzrk ij   ¼c½ osx fLFkjkad ij 

 ¼l½ mRiknksa dh lkUnzrk ij    ¼l½ mRizsjd ij    

The half life of a first order reaction depends on which of the following? 

¼A½ On Concentration of reactants   ¼B½ On Rate constant 

¼C½ On Concentration of products  ¼D½ On Catalyst 

¼iii½ fdlh vfHkfØ;k dk osx] vfHkdkjdksa dh lkUnzrk ij fuHkZj ugha djrk rks ml vfHkfØ;k dh dksfV D;k 
gksxh\ 

¼v½  3      ¼c½  0 

¼l½  2      ¼n½ 1 

If the rate of a reaction does not depend on the concentration of the reactants then what will be the order of that 
reactions? 

¼A½  3       ¼B½ 0 

¼C½  2       ¼D½ 1 



¼iv½ lYQkbM v;Ldksa dks vkWDlkbM esa ifjofrZr djus dk izØe gS& 

¼v½  fuLrkiu     ¼c½  HktZUk 

¼l½   fu{kkyu    ¼n½  Qsu IYkou 

The process of converting  Sulphide ores into Oxide is :  

¼A½  Calcination     ¼B½ Roasting 

¼C½ Leaching     ¼D½ Froth Floatation 

¼v½ gkbiksQ‚LQksjl vEy dh {kkjdrk gS & 

¼v½ 1     ¼c½ 2 

¼l½ 3     ¼n½ 4 

The basicity of Hypophosphorous acid is  

¼A½  1     ¼B½ 2 

¼C½ 3     ¼D½ 4 

¼vi½ f}nUrqj fyx.M gS & 

¼v½ SCN-    ¼c½ C2O4
2- 

¼l½ CO3
2-    ¼n½ EDTA

4- 

Didentate ligand is -  

¼A½  SCN-    ¼B½ C2O4
2- 

¼C½ CO3
2-    ¼D½ EDTA

4- 

¼vii½ eksuksgkbfMªd ,sYdksg‚y dk mnkgj.k gS  

¼v½ ,Fkyhu Xykbd‚y   ¼c½ fXylj‚y 

¼l½ vkblksçksfiy ,sYdksg‚y  ¼n½ dSVsdksy 

Example of monohydric alcohol is- 

¼A½  Ethylene glycol   ¼B½ Glycerol 

¼C½ Isopropyl alcohol   ¼D½ Catechol 

 ¼viii½ fuEu eas ls lokZf/kd vEyh; gS  

¼v½ Q‚feZd vEy    ¼c½ ,lhfVd vEy 



¼ l½ çksfivksfud vey   ¼n½ C;wVkbfjd vEy 

Most acidic  in nature among the following is -  

¼A½ Formic acid     ¼B½ Acetic acid 

¼C½ Propionic acid    ¼D½ Butyric acid 

¼ix½ fuEufyf[kr esa ls vko';d ,ehuks vEy gS & 

¼v½ Xykblhu    ¼c½ oSyhu 

¼ l½ XyqVsfeu     ¼n½ ,sLisjkthu 

Essential amino acid among the following is - 

¼A½ Glycine     ¼B½ Valine 

¼C½ Glutamine    ¼D½ Asparagine 

2.  fjä LFkkuksa dh iwfrZ dhft,A          4x1¾4 

      Fill in the blanks : 

¼i½ Lo.kZ lrg ij HI dk m"eh; fo;kstu --------------------------- dksfV dh vfHkfØ;k dk ,d mnkgj.k gSA  

The thermal decomposition of HI on gold Surface is an example of --------------------------- Order reaction. 

¼ii½ Q‚esZfYMgkbM dk 40% tyh; foy;u ---------------------------ds uke ls tkuk tkrk gSA 

40%- Aqueous solution of formaldehyde is well known as  --------------------------- 

¼iii½ xkVjeku vfHkfØ;k esa --------------------------- mRçsjd ds :i esa ç;qä gksrk gSA 

--------------------------- is used as catalyst in Gatterman reaction- 

¼iv½ --------------------------- Lokn esa ehBs ugha gksrs gSa vr% bUgsa v'kdZjk Hkh dgrs gS A 

--------------------------- are not sweet in taste, hence  they are also called  non sugars .  

3. vfr y?kqÙkjkRed ç'u%          8x1¾8 

Very  short answer type questions-  

¼i½ çFke dksfV dh vfHkfØ;k dh lekdfyr osx lehdj.k fyf[k, A 

Write integrated rate equation of first order reaction. 

¼ii½ pqEcdh; i`FkDdj.k fof/k  dk vkjs[kh; ukekafdr fp= cukb;s A 

 Draw the labelled outline diagram of magnetic separation method . 



¼iii½ gkcj çØe ds vuqlkj veksfu;k mRiknu ds fy, çokg fp= cukb;sA 

According to Haber's process draw a flow chart for the manufacture of ammonia . 

 ¼iv½ ukbVªkstu eksuks v‚DlkbM dh vkstksu ds lkFk vfHkfØ;k dh jklk;fud lehdj.k fyf[k,A 

Write chemical equation of reaction of nitrogen mono oxide with ozone . 

¼v½ vksfy;e dk jklk;fud lw= fyf[k,A 

Write chemical formula of oleum-  

¼vi½ ,Fksu‚y dks lkUnz H2SO4 dh mifLFkfr esa 443 K ij xeZ djus ij çkIr mRikn dk uke fyf[k,A 

 Write the name of product obtained when ethanol heated at 445K in presence of con. H2SO4  . 

¼vii½ fifØd vEy dk jklk;fud lw= fyf[k,A 

Write chemical formula of picric acid . 

¼viii½  fuEukafdr dks vEyrk ds vkjksgh Øe esa O;ofLFkr dhft,A 

 r`rh;d C;qfVy ,sYdksg‚y] çkFkfed C;wfVy ,sYdksgkWy] f}rh;d C;wfVy ,sYdksgkWy 

Arrange the following in increasing order of acidity. 

Tertiary butylalcohal, Primary butylalcohal, Secondary butylalcohal 

[k.M & c 

Section - B 

y?kqÙkjkRed ç'u & 

Short answer type questions- 

4. ljy ?kuh; tkyd esa ladqyu {kerk ifjdfyr dhft,        1½ 

Calculate the packing efficiency in simple cubic lattice . 

5. d‚ij FCC tkyd cukrk gSA ,Dl fdj.k foorZu v/;;u }kjk irk pyk fd bldh ,dd dksf"Bdk  

ds dksj dh yackbZ 359-6 pm gSA d‚ij ds ?kuRo dh x.kuk dhft, A ¼ijekf.od nzO;eku 63-54 U½A 1½ 

Copper forms FCC Lattice and X-ray studies  of its crystal show that the edge length of its unit cell is 359.6pm.  

Calculate the density of copper¼atomic mass 63.54 U½ 

6.  4. 6 g ,sFksu‚y ds 500 g ty esa foy;u dh eksyyrk dh x.kuk dhft,A    1½ 

Calculate molality of 4.6 g ethanol in 500g water.  



 

7. ,d oS/kqr vuvi?kV~; ds 2-00 xzke dks 200 xzke ty esa ?kksyus ij blds fgekad esa 0-20K dh deh  

gks tkrh gSA ty  dk fgekad voueu fLFkjkad 1-86 k kg mol-1 gSA foys; dk eksyj nzO;ekku Kkr  

dhft,A             1½ 

2.00 g of a non - electrolyte solute dissolved in 200 g of water depress the freezing  point of benzene by 0.20 k. 

The freezing  point depression constant of water is 1.86 k kg mol-1 . Find the molar mass of solute.   

8. Mn2+ vk;u dk pqEcdh; vk?kw.kZ ifjdfyr dhft,A        1½ 

Calculate magnetic moment of Mn2+ ion. 

9.  vUrjkdk'kh ;kSfxd ds dksbZ rhu HkkSfrd ,oa jklk;fud vfHky{k.k fyf[k,A    1½ 

Write any three physical and chemical characteristics of Interstitial compounds. 

10. bZVkMZ vfHkfØ;k ij fVIi.kh fyf[k,A         1½ 

 Write short note on Etard reaction.  

11. gsy QksykMZ tsfyaLdh vfHkfØ;k ij fVIi.kh fyf[k,A       1½ 

 Write short note on Hell-Volhard -zelinsky reaction. 

12. lzksrksa ds vk/kkj ij rhu çdkj ds cgqydksa ds uke vkSj çR;sd dk ,d mnkgj.k nhft,A  1½ 

On the basis of sources, write the names of three types of polymers and give one example of each. 

13.  fuEukafdr cgqydksa ds ,dyd dk uke fyf[k, A      3x½ = 1½ 

 ¼i½ ukbykWu&6 

¼ii½ VsQy‚u 

¼iii½ fuvksizhu 

Write name of monomer of following polymers. 

¼i½ Nylon -6 

¼ii½ Teflon 

¼iii½ Neoprene 

14.  laf'y"V viektZd ds rhu oxksaZ ds uke fy[kdj çR;sd dk ,d mnkgj.k nhft,A  3x½ = 1½ 

Write names of three categories of Synthetic detergents and give one example of each. 



15.  ¼i½ MsV‚y ds nks vo;oksa ds uke fyf[k,A         1+½ = 1½  

   ¼ii½ lsdsjhu dk jklk;fud uke fyf[k, A 

(i) Write the names of two components of dettol.  

(ii) Write chemical name of saccharine. 

[k.M l 

Section-C 

nh?kZ mÙkjkRed ç'u - 

 Long answer type questions- 

16. ¼i½ fudk; Mg2+|Mg dk ekud bysDVªkWM foHko vki fdl izdkj Kkr djsaxs\ 

¼ii½ xSYosuh lsy D;k gksrk gS\          2+1¾3  

¼i½ How will you find the standard electrode potential of the system Mg2+|Mg? 

¼ii½ What is the Galvanic Cell?    

         

17- fuEukafdr ladqyksa dk IUPAC uke fyf[k, A        1+1+1=3 

¼i½ [ Cr (NH3)3 (H2O)3 ] CI3 

¼ii½ [Co(NH2 CH2CH2NH2)3]2 (SO4)3 

¼iii½ [NiCl2 (PPh3)2] 

Write IUPAC names of following complexes. 

¼i½ [ Cr (NH3)3 (H2O)3 ] CI3 

¼ii½ [Co (NH2 CH2CH2NH2)3]2 (SO4)3 

¼iii½ [NiCl2 (PPh3)2]  

 

18. ¼i½ ukbVªkscsUthu ls ,susyhu cukus dh jklk;fud lehdj.k fyf[k,A    2+1=3 

 ¼ii½ dkj.k nhft, fd ,uhyhu veksfu;k ls de {kkjh; D;ksa gS \ 

 ¼i½ Write chemical equation to prepare aniline from nitrobenzene. 

 ¼ii½ Explain why the aniline is less basic than ammonia ?  

 



[k.M&n 

Section - D 

fuca/kkRed ç'u - 

 Essay type questions - 

19. jklk;fud vf/k’kks"k.k ds pkj izeq[k y{k.k crkb;sA vf/k’kks"k.k ds pkj vuqiz;ksx crkb;sA     4x½+4x½ = 4 

 

vFkok 

nzo fojks/kh lkWy rFkk nzo LUksgh lkWy esa pkj vUrj fyf[k,A beYlu ¼ik;l½ ds pkj mi;ksx fyf[k,A 

 4x½+4x½ = 4 

Write four features of chemisorption.  Mention four main applications of adsorption. 

or 

Write four differences between lyophobic sol and lyophilic sol. Write four uses of emulsion.   

 

20. ¼i½ SN1 rFkk SN2 vfHkfØ;k esa pkj vUrj crkb,A       2 + 2 = 4 

  ¼ii½ gSyks,sYdsuksa ds DOkFkukad yxHkx leku nzO;eku okys gkbMªksdkcZUkksa dh vis{kk vf/kd gksrs gSa] D;ksa\  
vFkok 

 
¼i½ Dyksjkscsathu dh gSykstsuhdj.k rFkk lYQksuhdj.k vfHkfØ;kvksa dks crkb,A 

¼ii½ DDT dk lw= rFkk IUPAC uke fyf[k,A         2 + 2 = 4 
 

¼i½ State four differences in the reactions SN1 and SN2. 
 

¼ii½ The boiling points of haloalkanes are higher than those of hydrocarbons of approximately the same mass, why? 

or 

¼i½ Give the halogenation and sulphonation reactions of Chlorobenzene. 
(ii)  Write the formula and IUPAC name of DDT. 


